7” torcal 1O

This bl will  be Ha 5661"01/4 %70 a review

thet will continue i ’/Tta(.aﬂr lechire. Since —t
frnad  exam i3 comprehensie,  we // S'fzu*f at e
be%nmva i Peiet Seriey

—_—

Recat] we say Hat a 8@7UULCL in #{VICJ?W
{/p (7()} Converge) 4 a Aimt funchon

=1

foor A b £ 00 = Pt o adl x.
N—> 00

Examp : Ouwr “classic exam?@’( 5
£.x) = 4an™ (ax).

'ﬁmcﬁm vﬁ(%) g,d'
Si‘cqoef hore o N—spo



U O
Thow  Line tan (ax) = 2 A xe

n—=>00 D |-‘€ A=0

- ‘f x <0

8ince ‘{’5\1 ’R,vaoﬁ% '[Lw«:'(’() ha Lwﬁzcn‘}ui
AN F/l?"tu ot T Ty Tsar‘('-cuﬁa,r)

L ~tan (1) = awd Zin fan'«) = 72
X— —0o X—> 0o

ﬁvm a 61\V<’/L ’K(ncﬁhvn *?OO, we Can caju&ccﬁ’e_
its '—Et( (Gr PO[ nomials ?n (X) : eac)« COMNEA W e
a vewainde D[Qn (X) at ¢ <o M

£ = P ) + K00
The Remulos  ave:
RO = feey« Lolc) + WW@ (x-c)g+

qf“"«)(x a




‘T(;u« ﬁivw ?,,UQ"@OQ uA ,QWB As ﬁ‘\“" Rw=0.

nw—=>09 e

Exangle - Caleulete the Tagor mbynomals 4re 2133
tenkeed. ak €28 for Hhe Punchon fo0= !

o
Solubm: Tf n-0 thes
[ACSEE D :"él:z =
.ﬂl}‘ we ned &—er‘/a:b\\fa "%-( “fﬁe o‘f{u;_r (JO(JVLOM,(L[A:
P10 = =5 0~ 2=, . =5

2" x-2*° T %7 ey
go (
L@ =-1, £43)=2, £ (3)=-0.
So
Piex) = 1+ ) (x-8)
P00 = [+ (0 (xB) + 5 (xB)?

2 (G) 3
Pooo) = | + 1) (x-3) + %(x«% + é——a%—(%'%)

—

R@CQM we a,(ﬁo L\k(L a et 5? ’&tho(oagi;

71“ MacLa,un‘rL Sevie Oﬁ a‘f)umd'\ev\ -@ S fe\L/‘—;U(DY
gerien cenkered ok O

/
//
|
)
|
/
|






Examgfe : # O £10.3 (sliglet dnavx%a
CDY\‘KT&QI /foq_’_ ;i{,l y \NH'CL Q=3. ‘P\o‘k enopae\,
Taylor  polynemnals Ao detenine Moo intervall A

c&'\veréce/nu, and “dhe secier
’QM"W\L cmp»&zdlws W &M‘E ‘L"Q) M_)e,mrri‘,ve,at

I
A QO
ﬁ we P(o‘t ‘i’e\,. /ﬁfrt &w FOLOYLOYV\A‘OLQS’ wcc‘géf?
‘\ \ 6& | _/\).LU\)
- Rg(’()
~{tx)
e
f

Gt convergence Gor 2 <x <.






AR iﬁuww;( e sextes are needed
ocdor Ao olp lu@ﬁjum sl A, pover sertes
of sther funchons and @ 4ale  sume of qiven powes
gertd . Tl ifamm‘ QQJmuAQM ace:

Do
Z.axt =& -l < x <\ Wi
n=o Secile) :
=

| — X
X" %
W - € for oL X, also
-y ! o nH "
y VQY\U*X)"'?(:\??"()
3 (,0" Xav\ = ot () _pw a.Ql " L x <],
= ()
STEnT e
¢ (— n-
X = 9\ aﬂ X .
ng (2n-1)! Ao

Mcfre,over, w\uu\ we Come d@ wﬂ"» oL wnew [aowef
Serten Aronula we aiwa,éd need +o 6/1\/?, s vadiy
,_F Cmv"’i}?(”‘ e v Swd w\/\o,«m‘“\&@ {)wmiav 7 valed
“Ths number s calewlated ’FUY el [pEea DA

)

> a.x" \@\J

n=o

R: /Qim
W—>"5

Awn ( o /R: "‘T..—:_‘_:-:—T
Bon s >0 \/ | a.l






No)(z onbs d,o we I/\ck\/é o&%dma “b(lfj(/s“t’{\af we cetu

do powel sty M ovdor 4o ou\cd.«d—zc -—rewm,

bt  we con alse t\a‘(zgvccfe, /oLFﬁerauh afe Alhon

withowt M\ﬁ\g “Afe cadiws ot€ wvwex%@tu_

M: Td. e Bum and  vradiny o¥ ayy\\/e;%m&
I Ao

n=o9

QLU\/{'\W We can ’Rﬂ\f Cq'('a“'vzc‘m o 8&%
8@9& Ca,t/\cddlm—.m

Sy = 2 nlarl) X

w=o

50 >
nt(
> ook i 2ns
n=0 w=o
v) >
Now  STax™t | x> 2 ax™
n=o n=o
[5.3)
= x*d 2x’>:x2—9l—— L
&K 2. A)( | -X
\" -lex <\,
= 2 ______(__,_,2_
8 a~x)>

- X
. gsu)oba: G'%)Z ) g A‘f(e(mﬁe ,{ogﬁ baclh
to  Sw)



=
X~
= —the 1nterval @ e

Game o e wnterval for
e \QNW\MLL Z')C‘= l'_,i ot
we wed..

= 3X) = -\ 2x <|.

b 4
‘33 P

When W"‘F@‘?d:B duck, yemember we abto have

(o O |+ 2ol el g
. n! |

hi

w\m‘c)/\ ¢on cone 1o u(’fAL egcne whnam L('ewa/_c

—
—

Ao recall Mt we can add, malbiple, subtract
ond. divide power  Serted. Ta s cone the
radius of Convergence of e sum A erence fprodud
13 e omaller of Ao A4wo radd
\/m daded  witl. Nste —that |

bo contred  of —the some value













